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AEHh = 7K KR B Alexandrium s Dinophysis e
(°C) op. D. fortii D. acuminata F DD Dinophysis

. Om 19.66 31.48

O3 5 1389 33.50 0 0 600 0
Om 19.50 30.71

@fAH 5m 14.26 33.61 0 20 380 0
10m 12.79 33.70
. Om 19.24 32.62

Q=R B 1505 3360 0 30 110 0
Om 16.97 33.26

@A FE 5m 13.92 33.73 10 50 140 0
10m 12.54 33.77

Bk 10m - - 0 0 10 0

®XiR 10m - - 0 100 230 0
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Alexandrium spp. (cells/L)

HEH
O |OB@HA|Q-VR |DE#EOFE |OAR
4R7H 280 130 160 50 0 0
4R158| 10,940 150 30 0 0 -
4A21H| 6,030 300 20 50 - -
4R278| 41,130 370 250 70 0 700
5A7H| 23,760| 1,310 790 950 - -
5A128( 9,230 5101 1,900 230 - 50
5A18H 710] 2,350 680] 1,920 -1 66,240
5A25H 60 130 210f 3,930 170 0
6R1H 100 0 30 50 20 0
6A8H 90 0 0 0 0 0
6A158 0 0 0 10 0 0
5 D. fortii (cells/L)
DR |OBKEB|I—VR |DEHE|OEE |OAR
4R7H 0 0 0 0 0 0
4A158 0 0 0 0 0 0
4A21H 0 0 0 0 - -
4R27H 0 0 0 0 - 0
5A7H 0 0 0 0 - -
5A128 0 0 0 10 - 120
5A18H 0 30 680 40 - 0
5A25H 0 0 90 160 0 380
6A18 10 100 20 0 0 0
6A8H 40 60 10 30 0 50
6A15H 0 20 30 50 0 100
5A D. acuminata (cells/L)
Ol |OB@A|I-VR |DEH#E|OFE |OAR
4A7H 20 0 0 0 0 0
4A15H 970 10 0 0 0 -
4A21H 240 0 0 0 - -
4R27H 100 380 110 140 10 230
5ATH 130 0 0 0 - -
5A128 200 10 0 0 - 0
5A18H| 1,030 60 20 40 - -
5A25H 140 40 80 260 10 160
6R1H 850 260 380 90 10 0
6A8H 350 740 90 160 0 140
6A15H 600 380 110 140 10 230

Alexandrium spp.
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ORI E R ORI BT 5 SR £(2018~2020 4F)
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